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I. Formulas You Need to Know
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STEPRP 1: Calcutate Pooled Sample Proportion
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Resource for more help: Watch Ben Bishop 10.1 video #3 htips://youtu.be/OwfdIHCNXJE




1-Tail Test of Hypothesis Example #1: Hearing loss

Are teenagers going deaf? In a study of 3000 randomly selected teenagers in 1988-1994, 15% showed some
hearing loss. In a similar study of 1800 teenagers in 2005-2006, 19.5% showed some hearing loss. (Source:
Arizona Daily Star 8 18 -2010). Does these data give convincing evidence that the proportion of all teens

increised?
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1. Test of Hypothesis With Treatments Example #2: Cash for quitters

Resource for more help: Watch Ben Bishop 10.1 video #4 https://youtu.be/bRoQwpOCS.J4

In an effort to reduce health care costs, General Motors sponsored a study to help employees stop
smoking. In the study, half of the subjects were randomly assigned to receive up to $750 for quitting

‘) smoking for a year while the other half were simply encouraged to use traditional methods to stop
smoking. None of the 878 volunteers knew that there was a financial incentive when they signed up. At the
end of one year, 15% of those in the financial rewards group had quit smoking while only 5% _in the
traditional group had quit smoking. Do the results of this study give convincing évidence that a financial
incentive helps people quit smoking? (Source: Arizona Daily Star, 2-11-09).
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2-Tail Test of Hypothesis

Example #3a: Hungry Children

Researchers designed a survey to compare the proportions of children who come to school without eating

breakfast in two low-income elementary schools. An

SRS of 80 students from School 1 found that 19 had

not eaten breakfast. At School 2, an SRS of 150 students included 26 who had not had breakfast. More than )

1500 students attend each school. Do these data give
proportions?
a) Use a significance test to determine if there is
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convincing evidence of a difference in the population

convincing evidence and explain your conclusion.
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"V. 2-Tail Cl for Inference |
Confidence indferve
b) Usea * -~ - determine if there is convincing evidence and explain your conclusion.

Example #3b: Hungry Children
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